
応用数学 A 演習 No. 9 解答

問題 1 (1)

∥∥∥∥ 1√
2π

∥∥∥∥2

=

∫ π

−π

(
1√
2π

)2

dx =

∫ π

−π

1

2π
dx =

1

2π
× 2π = 1

(2)

∥∥∥∥ 1√
π
cosnx

∥∥∥∥2

=

∫ π

−π

(
1√
π

cosnx

)2

dx =

∫ π

−π

1

π
cos2 nx dx

cos2 θ =
1

2
(1 + cos 2θ) だから

=
1

π

∫ π

−π

1 + cos 2nx

2
dx =

1

π

[
x

2
+

sin 2nx

4n

]π
−π

=
1

π

{(
π

2
+

sin 2nπ

4n

)
−

(
−π

2
+

sin(−2nx)

4n

)}
= 1

(3)

(
1√
2π

,
1√
π
cosnx

)
=

∫ π

−π

1√
2π

1√
π

cosnx dx =
1√
2π

∫ π

−π

cosnx dx

=
1√
2π

[
1

n
sinnx

]π
−π

=
1√
2nπ

(sinnπ − sin(−nπ)) = 0.

(4)

(
1√
π
cosnx,

1√
π
sinmx

)
=

∫ π

−π

1√
π
cosnx

1√
π

sinmxdx =
1

π

∫ π

−π

cosnx sinmxdx

ここで cosnx sinmx は奇関数だから
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積を和に直す公式を使ってもよい。
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